LR R BB TR — B A B M BAR3K B ST R

L0874

Hfir ;75 76 (R BN B/ 30

L Mg A AFR X HIThReSRF H B ST HEH 4R FE I BT 5ER B T E 475 TEH
Hok *ok *ok ok *ok Hok dok
026282 ALm T IR 2 BT FE 352. 800000}
206 RS H 352. 800000)
20603 JSFHHF5C 352. 800000)
2060302 #2322 8HF 5 15. 800000
50502 7 dh FUIR 55 3¢ 30203 & ifl %% iﬁjfﬂi ﬁﬁﬁﬁgﬁﬁfﬁ%ﬁﬁ@ﬁmmmj&;ﬁﬁw;m 0. 500000]
50502 76 A5 3 1 30226 954 % tg;x‘;b‘%éﬁl[i;[ixﬂgﬁé%%ﬁm*%iﬁﬁH&iﬂ@xbﬁrki%%ﬁé%’;‘ﬁ@ 0. 5000001
50502 7 il AR 55 32 ¢ 3021102 FHIFFHZ Ik ziiﬁ ﬁﬁrﬁ;ﬁ:féﬁ%ﬁéﬂ%%%iﬁﬁﬁiﬂEIﬂJHzRiEEﬁZ%’FE‘J 0.600000)
50502 7 4RI 25 1 30209 S RS S e s RTINS 7.850000
50502 7 A %55 th 30226 %% % Eﬁf%;ig;;ﬁ%’;;““l““’rmﬁ‘h%ﬁnkﬁﬁ”%mmﬂ 0. 350000
50502 B SAIES X 3021102 B Lk ;z;gglggcmolfr\é;)i{%Calculatnrﬁ‘]ﬁﬁ%ﬁ%ﬁfjﬂ;ﬂ'fﬁm 3. 000000)
50502 7 A %55 30299 FLATA AR S5 iﬁfﬁgggﬁ%’;{““”l““’r%ﬁ‘ﬁﬁn&ﬁﬁ”%”wﬂ 3.000000
2060399 HAt S I HF 78St 337.000000
50601 AN (—) 31003 % i 4% W . FACHE AT K T 2955 SR BOR LRI T 187. 000000
50502 77 i 1R %5 3¢ 30218 L fil k3 AACHEPAT O 5 55 JEAR BOR LRI 5T 25.000000)
50502 i i 1R 55 3¢ 30299 JLAb R AR 55 3t FACHE AT O T 955 SR BOR LR T 25.000000)
50502 i dh PR 25 52 3021102 FHIF A2k 2% MR R 5.000000
50502 7 il Al 55 3 30299 HAbp & AR S5 S H EEREY 3 47.000000)
50502 it AR 55 3¢ 30218 4 A kLB EERCY 3 48. 000000)




